RASHTRIYA MILITARY SCHOOL BENGALURU ADMISSION FOR CLASS VI & IX FOR THE ACADEMIC YEAR 2024-25

Dear Parents,

1. At the outset, we would like to congratulate you for your son's/daughter's provisional selection for admission to Class VI or IX in this prestigious institution.

2. Here is some information which will come handy to you for the admission of your ward in the school. You are advised to go through the following points carefully.

3. Your requested to bring the fwg documents for the admission:-

(a) Original joining instruction.

(b) Original Transfer certificate duly signed by District Block Education Officer (Not required to be countersigned by DEO if school is affiliated to CBSE).

- (c) Class V or VIII marks sheet.
- (d) Character Certificate.
- (e) Address Proof Certificate.

(f) Medical Fitness Certificate by the medical board from the specified hospital.

(g) Original date of birth certificate (attested copy of the date of birth, Part II order).

- (h) Serving Certificate with mention of Present Rank.
- (i) Original Caste Certificate in case of OBC/SC/ST.
- (j) Income Certificate.

(k) Affidavit as per format on Rs 20/- stamp paper duly signed by the "Notary Public" as per the attached format.

(I) Ten photographs of ward, two family photographs, and a photograph of local guardian if any

(m) Aadhar card Xerox copy of your ward & parents.

(n) Dependent Card of ward (In case of entitled category) & Blood Group certificate of your ward.

S/N	Category	Tution Fees	Caution Money	Pocket Money	Total	Remar ks
(a)	Killed In Action (OR)	0	1200	35000	36200	
(b)	Killed In Action (JCO)	0	1800	35000	36800	
(c)	Killed In Action (Offr)	0	3800	35000	38800	
(d)	OR Gen	12000	1200	35000	48200	
(e)	OR SC/ST	3000	1200	35000	39200	
(f)	JCO Gen	18000	1800	35000	54800	
(g)	JCO SC/ST	4500	1800	35000	41300	
(h)	Offr Gen/SC/ST	32000	3800	35000	70800	
(i)	Civilian Gen	51000	6000	35000	92000	
(j)	Civilian SC/ST	12750	6000	35000	53750	
(k)	Staff Cadets	250	0	10000	10250	
(I)	Staff Cadets (B)	12000	0	10000	22000	

5. **<u>LIST OF SCHOOL UNIFORM</u>**. The measurement for the fwg uniforms is to be given during the admission process in the unit tailor shop:-

S/N	Type of uniform	No of sets
1	Khaki school uniform	03 sets
2	Mufti dress	02 sets
3	Scout dress(full set)	01 sets
4	School blazer with crest	01 set
5	Dinner night dress	01 set

6. <u>LIST OF NON- CSD ITEMS TO BE PROCURED FROM REGT UNIT TUCK-</u> SHOP

S/N	Items	A/U	Qty	Rate	Total Amt	Remarks
(a)	White Bed sheet with Pillow Cover	Nos.	03	320.00	960.00	
(b)	Swimming Costume	Nos.	01	105.00	105.00	
(c)	Table Cloth	Nos.	01	240.00	240.00	
(d)	Track Suit	Nos.	01	575.00	575.00	New pattern being introduced rate will be revised
(e)	School Tie	Nos.	01	105.00	105.00	
(f)	Black Socks Adidas	Pair	04	80.00	320.00	
(g)	Black Shoes(Oxford Pattern)	Pair	01	575.00	575.00	New pattern being introduced rate will be revised
(h)	Steel Box with Black Paint	Nos.	01	1150.00	1150.00	
(i)	School Belt	Nos.	01	60.00	60.00	
(j)	Lanyard	Nos.	01	40.00	40.00	
(k)	Cap Grey	Nos.	01	110.00	110.00	
(I)	Cap Badge	Nos.	01	36.00	36.00	
(m)	Black Kammarbhand	Nos.	01	110.00	110.00	
(n)	Tie Pin	Nos.	01	120.00	120.00	
(0)	Name Plate	Nos.	04	50.00	200.00	
(p)	Shoulder Pipe	Nos.	01	50.00	50.00	
(q)	Side Badge Set	Set	01	160.00	160.00	
(r)	Lock Big (Optional)	Nos.	01	60.00	60.00	
(s)	Lock Small (Optional)	Nos.	02	35.00	70.00	
(t)	Key Lace	Nos.	01	15.00	15.00	
(u)	Boot Lace Black	Nos.	02	10.00	20.00	
(v)	Lace Guard for Stockings	Pair	02	10.00	20.00	
(w)	Black Shorts (Net)	Nos.	01	310.00	310.00	
(x)	House T-shirt	Nos.	02	320.00	640.00	
(y)	PT T-shirt	Nos.	02	320.00	640.00	
(z)	Stockings	Pair	02	80.00	160.00	
(aa)	White PT Socks	Pair	02	80.00	160.00	
(bb)	Blue Game Socks	Pair	02	60.00	120.00	
(cc)	Sega PT Shoes	Pair	01	650.00	650.00	New pattern being introduced rate will be revised
(dd)	Towel	Nos.	01	190.00	190.00	
(ee)	School Cap	Nos.	01	160.00	160.00	
(ff)	Civil Black Belt	Nos.	01	120.00	120.00	
				Total	Rs 8,251.00	

7. The list of basic requisites to be given to your wards :-

- (a) Three pairs of formal civil dress.
- (b) One pair civil shoes.
- (c) Two pair stitched mufti dress (i.e. Black pant and white full sleeves shirt).
- (d) One civil blanket.
- (e) Water bottle.
- (f) Hair oil
- (g) Soaps & Soap Box
- (h) School Bag
- (i) Tooth Paste & Brush
- (j) Under garments
- (k) Mosquito Net
- (I) Civil Bed sheet(Two)
- (m) Washing Brush
- (n) Shoes polish Items
- (o) Bucket & Mug
- (p) Sweater
- (q) Hand Kerchiefs (10 Nos)
- (r) Blanket (Two)
- (s) Mattress(civilian wards are not authorized for schoolmattress)
- (t) Rain Coat
- (u) Football Shoes with Shin Guards.
- (v) Shin Guards for Hockey.
- Note: Parents should purchase and issue ten 200 Pages Long note books to your ward.